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DAILY PRACTICE PROBLEMS

CLASS : XIIth SUBJECT : MATHS
DATE : SOLUTIONS DPP NO. :1

Topic :-MATRICES

2 (b)
1 g1 o1
Sa-m]=Z-ay=c@-a

1 1
=—5(4-4)

Hence, it is a skew-symmetric matrix.
3 (b)

and  |4| = |§ _i|:10

1714 2
—1_
a7 =150 % %]
5 (b)
3 -3 4
Let A=|2 -3 4
0o -1 1
1 -2 =21
wadjA=|-1 3 3
0 —4 -3
1 -1 0
=(—-2 3 —4
-2 3 -3
6 (d)
We have,

3A3+2A%+5A4+1=0
=>[=-3A3-2A*-54
SIA'=(-34%3-242-54) 471
5A1=-342-2A-51

8 (b)

The given system of equations are
x+y+z=0,
2x+3y+z=0and x+2y=0
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111

Here, |2 3 1|=1(0—-2)—-1(0—1) + (4 —3)
120

=—24+1+1=0

. This system has infinite solutions

9 (9
1 2 3 2

2X—[7 4 :[o —2]

sax=[y Z]+[7 &

:,~2X=[A7L g
=>X=[7§2 ﬂ
11 (b)

Given, A=A,B=DB'

Now,(AB — BA)' = (AB)' — (BA)’
=B'A'— A'B’

=BA — AB

=— (AB — BA)

~ AB — BA is a skew-symmetric matrix.
13 (a)

Given that, p is a non-singular matrix such that
1+p+p*+..+p"=0
>A+p) (1 +p+p*+.+pY)=0
=1— pn+1 =0
= pn+1 =1
= p" X p1 =1
=p"=1/p

. p—l — pn

14 (@)
X ,[5 10 =5][5
=—|-5 —2 13][0
40[10 —4 6 “J

y

z

25+0—-25
—25+0+65

50+0+30

0
40
80

Given,

40

1
40

=>x=0,y=13=2
. x+y+z3=0+1+2=3
15 (d)
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“[1 ol =B1= 1

Then,X =yandY =x

e, y=x

16 (c)

Gi 1 —tane tan 0 _1_[(1 —b]
VN | tan @ —tane 1] b a

—tanG 1 1 —tan0] _[a —b]

= tane "1+ tan2gltan® -

N 1 1—tan26 —2tan6_[a —b]

1+ tan2@l2tan® 1 —tan?@| |b

r1 — tan?0 2tan0

1+ tan?@ 1+ tan®@ _[a —b]
2tan® 1—tan?6| [D

1+ tan?6 1+ tan?0

[cos 20 — sin 20 _[a —b]
:_sin26 cos20]| ~ |b

= a= cos20, b= sin20

17 (d)
-1 -2 =2
Given, A= 2 1 -2
2 =2 1
Ci1 Ciz Ci3 -3 —6 —6
= C21 sz C23 :[ 6 3 —6]
C31 C3y Cs3 6 —6 3
-3 6 6
>adjA=(B)=|-6 3 —6
—-6 —6 3
-1 2 2
=3|—-2 1 =2(=34
-2 -2 1
18 (d) Given equations are

px+y+z=0x+qy+z=0,x+y+rz=0

Since, the system have a non-zero solution, then
p 11
1 g1
11r

=0

Applying C,—C, — Ciand C3—~C3—C;
p 1-p 0

=>|1 g—1 1-—g¢q
1 0 r—1

=0
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1
=(1-pA-9-njf=; —1 1=0
~ 0 -1
1—r B

~(1- le—@ﬂ;m) 1
01—

Smce, pqr+1
D 1 1

1—p 1—q+1—r_
19 (b) Given, AB=1=>B=A"1
-1 _ adj A
Now, A= = ]

1 —tang

0
tan 5 1

0
2Y
1+ tan >

AT 0
2 T
= = —A
Secz g COS >
2

20 (d)
Given equations are 3x+y+2z=3 ..(0) 2x =3y —z=-3 ..(i0)
and x + 2y + z =4 ..(iii)

3 1 2
2 -3 -1, B=
1 2 1

‘3 1 2‘

3
-3
4

X

y
3z

Let A= , X =

2 =3 -1
1 2 1

-3 -1 2 -1 2 =3
:ﬂz 1|—ﬂ1 1|+41 2‘

=3(—3+2)—12+1)+2(4+3)

=-3-3+14=38
-1 -3 71
adj.A=| 3 1 -5
5 7  —11
-1 3 5
=|=3 1 7
7 -5 —11
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1 11-1 3 5
. ATl=—adjA=-|-3 1 7
| 4] 87 —5 -—11
Now, X =A"'B
1[—-1 3 5 3
=—|-3 1 7 -3
87 -5 -—11f| 4
—3—9+4+20 8
=—|1-9—-3+28|==(16
8|21 +15—44| 8|-8
X 1
b -1
>x=1y=2,3=-1
ANSWER-KEY
Q 1 2 3 4 5 6 7 8 9 10
A B B A B D B B C B
Q 11 12 13 14 15 16 17 18 19 20
A B A A A D C D D B D
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